Question Type-01:

< Formula & Concept: J0T9 (F7 (mf:w’ F“ﬂf:{ﬁ) G G, r = Vg% + f2 — ¢ ; J0o (T = mr?

MCQ
01. In the following circle, the area is Km, what is the value of K? [(TUT'17-18]
y
¢ > x
N
(a) 3 (b) 6 (c) 9 (d) 18
Solution: (d); r = v32+32=3y2 ~. Kn=18n=> K= 18
02. (LD)RTex?+y?+2(x+y) = 0J06d Bo7 SfEs #itgs a9y A 47 [BUTEX’11-12]
(a) V5 (b) V6 ©) V7 (d) @E 7Y
FYE: (d); x2 +y2 +2x+ 2y =0 :
@4, C(—1,-1); IMEr=v2 ;AC=V22+22=2V2;BC=r=+2 ALY =
* AB = AC — BC = 2v2 — V2 = V2 @F%F; I I2MH &3 |
03. 154 3% @< cwawe fAf¥ J0aa APTET 2x — 3y = 5 932 3x — 4y = 7 A LG TR T3-
(a) X% + y? + 2x — 2y = 62 (b) x? + y% + 2x — 2y = 47 [RUET’10-11, KUET’08-09]

() x% +y? —2x + 2y = 47 (d) x2 + y2 — 2x + 2y = 62 (e) None
AT (¢); 2x— 3y =5,3x—4y =7

Wﬂﬁmﬂ?,wﬁr’i; (1,-1); mr: =154 ~r=7

SorEEAAEEA, (x—1)2 + (y+1)2 =49 2 x2 4+ y2 —2x+ 2y —47 =0

04. 1@ T TS T r AP AT eim @B I8 sivent A1 7 (6, 7) s (12, 13) g ey e w031+
AL QAR S &l eme fa7 6 e 7, ©1F 77 o6 e e g =@ [RUET’06-07)
r= 321-\/(6 —12)2+ (7—-13)2 =32

05. iv4a o AB @F ©°/ PN 71 | PN &3 07y e 901 Il @i @66 Jraa siifiaet fean o 3t N s AB
& =P [BUET’02-03]

\a P (10, 14)
|

16 e
| ;

10 N

FAYH: AB @R AN, — + = = 1= 16x+ 10y = 160 = 8x + 5y = 80

10
|BXx1045%14-80| 70

. PN= = —
VBZ 452 VB89
70 \ 2 4900

FEATAT, (x — 10) + (y- 14 = (75) =x> —20x +100 + y? — 28y +196 = 222
=> 89x* + 89y? — 1780x — 2492y + 21444 = 0 (Ans.)
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Question Type-02: 98 8T *M©

< Formula & Concept:

01.

=

JESI AL ANPA, X2 + y2 + 2g % + 26y + ¢ = 0, @ (—g, ), VAL = /g2 + 2 — ¢
QATH, (i) FNFEH x 8 y 97 fFqrs (i) X2 8 y2 @F 727 1 [[Fg =77 77] (iii) P xy TS M @R
Rusafmg?+f2—c> 0 ), O ©f %4 98 (A |

MCQ
p*x® + 2px + qy + p?y? = 0 TR gt fF Fod F@? [BUTEX’14-15]
(2) OFTHIG! 77 G (b) TS (c) *RIgG (d) =g

T (b); PR x2 8 y? 97 7y 92 92 xy {2 @F *m @2

K Q9 (TR AT T (x — y + 3)2 + (kx + 2)(y — 1) = 0 Fqaeil @0 36 Foa sea? [CUET’11-12]
(a) 2 (b) -1 (c) 2 (d) None of these

AAYE: (3, ¢); (x—y+3)2 + (kx + 2)(y—1) = 0

A, x2+y?+9—2xy — 6y + 6x+ kxy — kx + 2y — 2 = 0

A xE+y?+(6-k)x—4y+(k—2)xy+7=0

og 908 7@ xy T& T * AFCS ARME A ~k—2=0 -~ k = 2

Question Type-03: IS (F4 (1S SICR WL S (FICAT 97 G A

Formula & Concept: (&% (h, k) 992 (x4,y1) ﬁ"i‘ﬁ'ﬁ’fﬂ'ﬁ@ A 2L,
(x—h)*+(y—Kk)* = (x, —h)* + (y1 — k)

Ol.

0

a6 Jred AT Ay Fa 77 &= (4, 5) e =*fFge 93z T x2 + y? + 4x—6y-12 = 0 JCSA
&5 A I [BUTEX’06-07]
ANYE: x2 + y2 + 4x-6y-12 =0=> x> +y* + 2+ 2-x+2(-3)y-12 =0 . (G (-2,3)

- Fufagreaaeid= /(4 + 2)2 + (5-3) =V36 + 4 = 2/10

2
. fedfa goaa 1iadl, = (x - 4)? + (y-5)* = (2V10)
— x2 — 8x + 16 + y2-10y + 25 = 40 = x* + y*-8x-10y + 1 = 0 (Ans.)

Question Type-04: SFETE =1 SCe7 fbras AR A Jras Ahead Fefrag 7z 2rafe

Formula & Concept:

X-SHCE =M TR T8 (x — h)? + (y — k)? = r? I F40,
> J0ed (FUEd (@I = a9 TIPS [[k| = 1]

> qrad (@rad gu = =iRea ga, = 7 Ah, 0)

x2 +y2 + 2gx + 2fy + ¢ = 0 FASA IR T, |c = g°
y-SeE ~pf TR 98: (x — h)? + (y — k)? = r? I59g9 390,
> 90a4 (T & = 084 A [|h| = 1]

> raa @rad @ifo = P g @I, = g [B(0, k)]

x2 + y? + 2gx + 2fy + ¢ = 0 W9 929 T, [c = £2]

@08



01.

02.

03.

04.

05.

y-SUHCE P 0 @G3R (3,0) 8 (7, 0) fvpan faca sIweeid qoeta e fHda 51
[BUET’13-14, RUET?07-08, 17-18; CKRUET20-21]
(@) x*+y2—10x+v21y+21=0 (b)x2 +y% —10x+ 221y +21=0
(€)x* +y2 —10x+2V21y+ 21 =0 d)x2 +y%2 —10x+V21y+V21 =0
() x* +y* —10x+V21y — V21 =0
A (b); y THE M F40, ¢ = 2
TR, X2 + y2 + 2gx + 2fy + f2 = 0
(3,0)=>9+0+6g+0+f2=0=6g+f2=-9...... (i)
(7,0) 2494+ 0+ 14g+0+f2 =0 = 14g+ %2 = —49 ... ...... (ii)
(i)—({)=>8zg=—-40=2g=-5
#f2=-9-6(-5)=21=f=+V21
». J08a AAMF, x2 + y2 — 10x + 2V21y + 21 =0
If the circle x* + y® + 8x + 2Ky + ¢ = 0 touches both the axes then possible valued of k and c are-
() k=8,c =4 (b)k =8,c =16 (c)k=+4,c=16 A k=+4c=4 [TUT’19-20]
Solution: (¢); g = 4, f = k if the circle touches both the axes then, ¢ = g? = f?
Now,c=g?>=42=16,Againc=f2=2 16 =k?[~f=k]=2k=+4.-.k=+4,c= 16
x? +y? — 4x + 6y + ¢ = 0 TG x-SrFF =1 | ¢ 99 7 F67 [BUTEX'16-17]
(a) 4 (b) 5 (c) 7 (d) 11
AAYM: (a); g = —2, X-9H@ a0, c=gZ =2c=4
(6 JG y-SrHE Ferqre = $0a 93 (3, —4) [ o wieey w9, g6 Tiiead @mB?
(a)3x* +y? =10x (b)4x?+y?=x (c) x? + 3y? = 7x [KUET’10-11]
(d) 3x° + y? = 5x (e) 3x? + 3y? = 25x
TAGE: (e); 2 =c~x?+y? +2gx+ 2fy + {2 = 07, (0, 0) 8 (3, —4) Fpirsh
f2=c=0x%+y?+2gx = 09 (3,—4) fpirth
9+ 16+ 6g = U;6g=—25;g=—%-‘-x2+y2—§x=0:. 3x* + 3y —25x =0
k-9 (I 0 &U x2 + y? + kx + 2y + 25 = 0, JB0 x-THS = 77 [CUET’10-11]
(a) 5 (b) =5 (¢) 10 (d) None of these
A (¢); 2F=0=~g3 =t:=:>(§)2 — 25=h§=i5 S k=410

06.

OF0 I8 x THS FARYS M 300 @3 (1, 3) &g e wm, o s7iiresaet e <51 [BUTEX'18-19]
FAAY: A FE &5 (0, k) AY

@Y 0 X ST Foqrs = a3 Joaik @9 Y 9rF S/iye 19 @red @i = (1,3)
(SRR LIE <—CIL>

*[GNCS, k = ,/(0—1)2+(1<—3)2==k2=1+k2—6k+9=>6k=10==k=§
5\ 25
.-.W’fﬁlﬂ‘f. x2+( -5) =~ [Ans.]

X 0[0,0) ~ X
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UIs SO QUON NIRRT N AT x-S i @12 (1, 1) Ry o A @3 3 @ & St x +y = 3

@dE %ﬁa CEIE ] [BUTEX'07-08, BUET'16-17]
Wq:ﬂﬁ,@ﬁﬁﬁﬁq;xz+y2+2gx+zw+gz= --------- Q)

TO LD RPIM - 141425+ 2f4 g2 =02 24208+ D+ g2 =0 ... (i)
Wﬁ?‘ﬁx+y=3nﬂa%ﬂamﬁz@u -g—f=3=2g+f=-3......(iii)
) =22+2(=3)+g? < 0= g2 =4 - g= -2 [+ &% ST TTS]
(i) = —2+f=-3 +f=—1 . @B x2+y2 —d4x—2y+4 =0
08. nﬂﬁ‘ﬁmﬂ‘m‘ﬂ?ﬂqﬁﬁﬂ?ﬁmx-w(4,U)ﬁ’iﬁmﬁmﬂqﬁy-wm6ﬂﬁﬁﬂﬁﬁﬁﬂ%ﬁﬂl
[KUET'05-06, BUET’02-03, 11-12]

FAI4H: CD L AB Sifs

QIEA, BD=§=3ﬁmﬁwﬁﬁwmﬂwwmml
[T =1} SUICS Af%df~ee $4); CD = 4

~CB=+V42+32 =5=CP .. (3Ha % (4, +5) G2 GPIE =5
LSRN s (x — 4)2 + (y £ 5)2 = 52

09. O e AN Refa 709, T SO e =i w07 @3z (1, 8) T o o 3241 [CUET’08-09]
T (x — a)? + (y — b)? = r?; a IFTIE T0&, GUtE, (x — a)? + (v —a)? = a?

(1, 8) i N 9=, (1—a)?+(8—a)2=a?-~a2—18a+65=0 ~a=13,5
TR, (x — 13)2 + (y — 13)2 = 132 @92 (x — 5)% + (y — 5)2 = 52 (Ans.)

10. x*+ y®—4x-6y + c = 0 JBO x FHcd ¥ FAC1 ¢ 97 T 9R ~Pife@ gas A sa1 [KUET’03-04]
AN x2 + y2—4x-6y+c =0T =(2,3)
xmwﬁm,Zmzﬂﬁgz:cﬁc:f=4(An5.) ’
X2 +y?—4x—6y+4=0
XOrFy=0 .. x*-4x+4 =0 Q

= (x-2)% = 0 =x = 2 .. Pffag = (2,0) (Ans) 0

(2, 0)

Question Type-05: 9€ x 8 y 9= (AT I AT ST2*] (2w 04 ol fefy -

® Formula & Concept:

x2+y? + 2gx + 2fx + ¢ = 0 &F (x—=h)?+ (y—k)? = r? 3rag
chﬂlﬁﬂﬁﬁﬁﬁ‘f=2ﬁ X OF (U A oo = 2412 — k2
y O (A AfE§T w2 = 2vV2 — ¢ y % (ATF AM6® 5o = 24/12 — h2
MCQ
0L (1,2) &g ¥R G I8 x-STFCF ™M T | y-orF o el AT Afe® S0 it $6?  [BUTEX’15-16]

(2) V3 (b) 2v2 (c) 2V3 (d) 3

Y

X T
HAAYE: (¢); —1(1:2)

r o

[eg, r=2, x2 =1 — 12 =2 - 1" =3 = x = V3 . y-or% 7 qal wa1 4fvs wat = 2v/3

TOY



02.

03.

OB JTE A AR x-SCF7 4TS WL “Afamre- | [Ans: ¢][BUTEX’12-13]
(a) 2\/g2 + ¢ (b) 22 + ¢ (c) 2{/g2 —¢ (d)2Vf2 —¢

x“+y? =16 86 x ¢ y WS IAFW A @ B Fyre 2w 90a | Jalb (7 (AT AB 97 ToF1 W& THRGE
936 T+ A1g vt sawa 3ffoa crawe oo 2@y [CUET’11-12]
(2) 4 sq. unit (b) 6 sq. unit (c) 8 sq. unit (d) None of these

FAHE: (¢); x* +y? = 16 IS0 x SHCE A(4,0) 8 y T%F B(0, 4) 90 7 I |
- AB mﬁﬁq4x+4}r= l6=>x+y=4

 0(0,0) T[S AB IR 71 vg= L1t = 2
~0C =22

» OC & a6 q0fa 1 4ea wifFe q0sfa ot 0C2 = (2v2)” = 8 sq unit

04.

05.

=

0l.

C Ffaf¥2 x2 + y2 + 6x — 4y + 4 = 0 J&f6 x-9IFF A @ B Re @7 9031 x-9irwa A&wI AB @32 ABC
fastew crawa Rda o [BUET’14-15)

Y X% +y? +6x—4y+4 =0
GqItq,g = 3, f= -2, ¢c = 4

AB =2,/g2—c =2V3?2 -4 =25 (Ans.)
A ¢ B fa7a @16 01

QAT x> +6x+4 =0 =ﬁx=_6i;£-'-x=—3i\f§;CE(—3.2)
-3 21
—-3+vV5 0 1
-3—-vV5 0 1
=-[-3(0-0) - 2(-3+ V5 + 3+ V5) + 1(0 — 0)] = -;-x (=2)[2V5] = 2V5 3 95% (Ans.)

(2, 3) FERME 3T Ty S =p T aFe Joag TR w791 3oy y-wor s w1 97
gy g ==

AALI: (FTF (2, 3), (FTTA 9@ = [FPE] . (x-2)2 + (y—3)2 = 22
=SX2-4x+ 4 +y2—6y+9=4=x% + y*~4x-6y+9 =0 (Ans.)
y-SIF O Ffos @ @3 #faid, 2,/(3)2 -9 =0 (Ans.)

G+, AABC =

~ |-

[BUTEX’03-04]

Question Type-06: T A (ST AFCA ©F (AT Jr@F TG99 i Fewrrs
Formula & Concept:

(X1, ¥1), (2, y2) IO AR 201 08 AT, (% — %1) (% — Xp) + (7 — ) (v — y,) =0
MCQ

(0, —1) @R (2, 3) I TRTHR FLCAT G AT 402 W I x-97F AT @ AT et (2R A O Hz-

(a) 4 (b) 2 (c)3 (d) 3v2 [BUET’10-11, CUET'13-14]
T x(x=2)+ Y+ 1D -3)=0=23x2 - 2x+y2 — 2y —3 = 0=>x*+y2—2x—2y—3=0

S X O (U (RN 9, 24 /g2 —c=2V12+3 = 4

@09



Question Type-07: {9 ﬁi”‘i‘?ﬂﬁbf 908+
Formula & Concept: (FITRI I8 A(xy,y,), B(xz,¥,) 93 C(x3,Y3) ﬁ"‘i‘ﬂ'ﬁ’f 20,

> TS ANTAY KqCS T, x2 + y2 + 2px + 2fy + € = 0 .r . .. (i)

> (i) RSO A, B @3z ¢ 757 wrat g waeet 3 B sillwad «newt I (g, f, ¢ TF) |
> SR fERfbT STy 3 g, f, ¢ w3 TF Ry 3T T3

» g £ c G WR (i)-9 I Feefa Jraa sl by = @)

Shorteut: A(Xy,y;), B(x,,y,) @32 C(x3,y;) Rt grad s,

(x=xX; ) (x=X3)+(y=y,)(y-¥2) - (x3=%1 ) (X3=Xz)+(¥3—¥1) (¥3—¥2)
(x=%1) Y1 =Y2)=(y=¥1) (X1 =X3) (%3 -%1)(¥1=Y2)=(Y3=Y1) (X1—Xz)

01.

02.

A(2a,0) 932 B(—a,0) 7 72fbx Wy fiewr siwreetal w26 @i y-wirwra o C e «i9eitd (2 | C @9

AT Q3 ABC A I (@ F9| [RUET'19-20]
;€ R (0,b) @3, 2> x 22 = —1 = 2 = —1 5 b? = 22> = b = +Za

ABCWﬁﬁ‘Ix2+y +2gx+2fy+c=0

A(2a,0) T, 4a2 + 4ag+c=0........ (i) 932 B(—a,0) IF1tH, a®? —2ag+c=0 . (ii)
C(0,b) I, b? + 2fh+c=0....... (iii)

(i) — (i) = 3a® + bag=0=>a=—2g=>g=—
gsﬂﬁm(ii)uﬂﬁﬁfﬂ,az+a?'+c=0=:>c=—232

b2, c 9 NI (iii) @ 3BT, 2a% 4+ 2bf—2a2 =0=>f=0

-~ ANSAT x2 + y?2 —ax — 2a® = 0 @ C 79 (0, £v2a)

faeet: e 368 7] OF AT (AB) AN FACIIT TAF IF, TR 398 7 (x, ) T ABC 084

ez (122 (2=2) = T PO 2 . T

——23) (::+a) ==l x2—-ax—2a? y x“+ax+2a° = x°+ y ax — 2a“ = 0.
A(5,3),B(—2,0) 932 C(1,1) &7 foalt @ Jraq Toix w=fge o Jree o ¢ fagw ABC 93 SawrHs
YRSl g a9 [BUET'17-18]

HATY: 08T @7 0(x,y1) T, 0A = 0C = /(% = 5)2 + (y; = 3)2 = /(xy — D2 + (y; — 1)?
= x2 + y2 — 10x, — 6y; + 34 = xi + y{ — 2%; — 2y, +2 AG. 3)
= —8x, —4y; +32=0 =22x,+y; —8=0...... (i) ’
Ga2 0A = OB = /(x; — 5)% + (y1 — 3)2 = /(%1 + 2) + (y; — 0)?
= x2 +y2 — 10x; — 6y; + 34 = x3 +y% + 4%, + 4

= —14x; —6y; +30=0 = 7x; +3y; =15 =0

(i) 728 (ii) e TNFA FAALH I AR, x5 = —9; y, = 26

Q<A AABC 97 SFE 0(xz,y2) T Xp =222, 'y, = 4140 p o (3.9)

B(-2, 0) cd. 1)

s w8 A, 0D = V0 — X2 ¥ 0y )7 = | ("9 -3) +(26-2)

951 5476 6437

¢



=)

0l1.

IEE e ;;.;2+y2+2gx+2fy+c=0m(5,3),(—2,03-(111)w'

“25+9+10g+6f+c=0=10g+ 6f+c=—34--(i)
“44+0—-4g+0+c=0=—4g+c=—4--(ii
“1+14+2g+2f+c=0= 2g+ 2f+c = -2 - (iii)
Solving (i) X (ii) X (iii),g =9 = f= —26 = ¢ = 32

- (g (—9,26)

AABC @3 SqFH = (5"2“,3*:“) - (i 1)

Question Type-08: 90 TAeac 67 9 Fx [Afeq @ Tow w4afge

Formula & Concept: GURT@ 08 AT FTAFa03 x2 + y2 + 2gx + 2fy + ¢ = 0 G2 AN G2 247G fafon &
R T T g, f, ¢ R WA @@ FAER TG BT WA | (TR FAIE G A, (x — h)Z + (v — k)2 = r2 IR
e |
MCQ

A circle passes through the origin & the point (4, 2) and its centre is on the line x + y = 1. The equation of the
circle is- [TUT'16-17]
(a)x® +y?—6x+2y=0 b)x? +y2—x—8y =0
()x*+y?—8x+6y=0 (d)yx* +y?—-2x—6y =0

Solution: (c); x> +y2 + 2gx + 2fy = 0

That passes through point (4,2) .~ 20+ 8g+ 4f= 0
Again, centre (—g,—f);g+f+1=0:.g=—4,f=3
Ans.x* +y2—8x+6y=0

02,

(1, 1) gt asit Jres AliFwe 76T 39 9 x 7 F =M @ IR IT@EFF x + v = 3 @UF BoF &AW
OO SEFe | [BUTEX’07-08, BUET'15-16]
AAYI: 4 I0EF & (h, k) - TETE= k
MGqCS, /(h—1)2 + (k—1)2 = KL, h? — 2h + 1 + k? — 2k + 1 = k?

A, h2 —2h —2k+2=0....cce e ver e .. (1) X + vy = 3 @UE 2T &7 (h, k) TIFS |
sh+4k=3999h=3—-K.wvnvw . (ii); () 2 B3-k)*=-23-k)=2k+2=0
SYq, 9 — 6k +k? — 6 + 2k —2k + 2 = 09I, k2 —6k+5=0=>k?®* —5k—k+5=0

o2dl, k(k—5)—1(k—5) = 0%, (k—5)(k—1)=0-k=1,5

(i) = h = 2,-2 « (79 2T 59107 S[_AFS | -~ (7 2,1 IMHIE= 1
S ERMBAATNTT (x— 2)2 + (y—1)2 =12 WL, x2 —4x+4+y2 —2y+1=1

Sedl, x¢ +y% —4x— 2y + 4 =0 (Ans)

(gVl



Ype-09: ST JSLF ™ I *© IF [

2 Formula & Concept:

» ax + by + ¢, = 0 FwerCaAf x? + y? + 2gx + 2fy + ¢ = 0 TG ™S LA 089 7 C(—g —f) T®

ax +by + ¢, = 0 (UM o1 43G 087 TN, r = /g2 + 2 — ¢ 4F FTF T |

 |-ag-bf+c,|
Eﬁﬁe‘:" W1=-\/g2+f3—-c=r

» y = mx + ¢ @3I5-

(a) X* +y* = r? I8 =M I 418, 2 = 12(1 + m?)

(6) (x = h)* + (y — k)? = r? 380 =M 19 1, (mh + ¢ — k)? = r?(1 + m?)

(c) x* +y?* + 2gx + 2fy + €, = U@W’“’I‘TW‘T@, (c+f-mg)? = (g2 + 2 — ;) (1 + m?)

MCQ
0. x+y=1G@0 x? +y? = ¢ g7 9 ~pfF T, ¢ 93 T @ F91 [CKRUET’21-22]
(@)1 (b) 2 ©) V2 OF OF

AN (e); x+y =1
2x*+yl=c2x2+(1-x)2=c2x2+1-2x+x2=c=22x2—2x+1—-c=0:D=0

="4“4=2-(1‘—‘C)=U="4+B(C—1)=D=>1+2(c—1)=D=:~1+2c—2=ﬁ=:2c:=1-‘-c=%

02. For what values of k, 3x — 4y = k will touch x? + y2 — 8x = 07 [TUT'11-12, 17-18]
(a) —8, 32 (b) —32,8 (c) 8,32 (d) 81,3
Solution: (a); Center (4,0), Radius = 4 - 3":"‘] =4=>12-k=420=k=—8,32

03. (@M HTS x+y =140 x? + y? — 2ax = 0 J&& =M Fa9? [BUET’11-12, BUTEX'16-17]
(a)a?—2a=1 (b) a® + 2a = —1 (c)a’+2a=1 (da®*-2a=-1
ANYE: (c); x° +y2 — 2ax = UWW“'&' (a,0) 92 AHE = a
. 'T;'=a=~az—23+l=232=>az+23=1

04. 3x+ky—1=0GFMOx*+y?-8x—2y+4= UW“’I‘TWK G | $97 [BUTEX’15-16]
(a) 2,2 (b) —2.5 (¢) 2,— = (d)-2,—=

FAMYE: (c); Ix + my + n = 0 8 x% + y? + 2gx + 2fy + ¢ = 0 ™ Fq17 *1$:

(lg+mf-n)2=024+mH)E*+f°-c) = 3(-+k(-1) - (-1 =3B*+k>)(42 +12-4)

= (-k—=11)2 = (9 +k?)(13) = k* + 121 + 22k = 13k?* + 117 = 12k? - 22k—-4 =02k =2,—1
6

05. a nﬂﬁﬂ‘lﬁﬁmxz+yz—4x+23}'—12=ﬂﬁfﬁ 3x—4y + 7 = 0 QU =P 93
STANYI: 2 SR JUET ~PF T (8 (U AT 77 g J0aa Mida M 2 @1 [BUTEX09-10]
278 0G4 (I (2, —a) TAE = /(2)? + a2 + 12 = V16 + a2

__ |3%2-4(-a)+7 __|(13+4a)
(2, —a) O ATTIE TR EY = |~ 5oz I_‘ 5

i g, 2] = (VIE+a?)’

5
= 169 + 104a + 16a* = 25(16 + a®) = 400 + 25a% = 9a% — 104a2 + 231 = 0

104+./(104)%-4x9x231 _ 104+50
A= 2%9 1B

v g 7
--a—B,g (Ams.)

@8o



Question Type-10: 38 Gt

GRS =4 P20 ©f *® Jued Taet 7 e
=  Formula & Concept: IO (% TS TF {tera 717 vy = 3099 A4PT4

MCQ

Ol. A circle whose center is in the first quadrant and touches the x and y axes, and the line 3x — 4y = 12, the

equation of the circle is- [TUT'14-15)
@x*+y*+4x+4y—-1=0 b)x?+y2—6x—6y+9=0
(©)x* +y? +4x—6y+4=0 (d)x2+y2 —6x+4y+4=0

Solution: (b);

The equation of the circle is, X% + y2 + 2(—)x + 2(-)y + 1?2 = 0

The point (r, r) has a distance of r from the straight line 3x — 4y = 12

3r—4r—12 ;
5.2 ; e r=r+12= +5r = r = 3, —2 (not possible)

~. The equation of the circle is, x> + y2 —6x— 6y +9 =0

Question Type-11: (31 AT ©AF ?ﬁ’ WHT “Cifean Tl_xﬁ;{@ OB TP a ANRA T
» Formula & Concept:
(i) 2UTH #17/ AR @LE FNFI F140e 209 (31 997 1@ Afeael 77re 3[)

(i) 919 (FT C(USF TS (@41 77 g = J08 APIE 1S 324 I0A ATAGAY LoRTed I W ey e
=T AAFF AMST A |

01. x2+y? = 9 J0&A ™M@ x-SCHA A 459 LA Fq, “raa T a0l 7 [BUTEX’11-12]
1Y 49, =rfrea Tledd, y = tan459 X x+¢ ~y=x+c M x—y+c=0

x2+y2=9§mﬁrﬁ(0,0)@W43ﬁW| 00T x—y+c=049Fdg 3 9FF|
| =3+ o= £3V2 o pire R, x — y £ 3v2 = 0

02. FGx2 +y? + 4x — 8y + 2 = 0 GF ~PPefE TN (@7 F9 TR T 794 ¢ o fore «ffes )
W’iﬁ:ﬂﬁ,”’l“fmﬂﬁ?"ﬂf—§=l Ad,x—y—a=0 [RUET?09-10]

X2 +y2+4x—8y+2=09, (x+2)2+(y—4)2=2%2+4*-2=18
M, (x+ 2)2+(y — 4)? = (3v2)" .. @F (—2,4) @ T[4 3V2Z

. |—2—4-2a
CIViz4az

S AN TAlx —y =08 x —y+ 12 = 0 (Ans.)

=329, |a+6/=63,(a+6)=+6 ~a=0,—-12

@8>
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01.

Type-12: 089 -9 sy /57T 3et [y A

Formula & Concept: 2,402
Wﬂ-ﬂﬁﬂﬁﬁqmmwwmﬁ@. X*+y*+28x+2fy+c=0
X2 +y®+2gx+2fy+c =0 ‘
V@R C(—g N QR T[FE, r = /g2 + £2 — ¢
7 (@7 C RS T1-97 777 v _ 7 _ |mag-bftcy
Jued TS, CD =1 = =5
A¥R, AD = Vr? — |2 ST ©31-97 0y, [AB = 2AD = 2viZ - 17 =u
! — — S W o +by+¢ =
SUT 4 W (FTT ORAR (I (TS AT WI-7 00y @ Rt e B ax+by+c,=0
oy B @A, AB w97 e = | [« Jrea s = r
AB 16 J0GT (ITH 6 (PIct B | f2teT, cos § = T~ (fargrer Cosine Law]
= 12 =2r2 — 2r? cos§ = 2r2(1 — cos8) = [? = 2r2.25in2§ lf = 2rsin§
et e Tt e o @ eem ciem i ser 9 16 s AR AR
MCQ
If the equation of a given circle is x2 + y% = 36, then the length of the chord which lies along the line
3x+ 4y — 15 = 0 is- [IUT'10-11]
(a) 3V6 (b) 2v/3 () 6v3 (d) None
Solution: (C);r=6 = d = 3'“;"":” =Z2=3:2x=2V6? - 32 = 6V3
Question Type-13: 9089 Lﬂ?ﬁﬁ% ) ROE RS KBS B Wﬁﬁﬂ’éﬁ ST AISCE
S-SR 9T HLerrE
Formula & Concept:
Process-01: x? + y? + 2gx + 2fy + ¢ = 0 J0q9 (I G0 1-99 NGRH P(x,, y,) 206 TF &j1-97
AR, T = Sy [@H, T = xx1 +yy; + gX+X,) + fy +y1) + c GRS, = x2 +y2 + 2gx, + 2fy; + c]
Process-02: x*+y?+2gx+2fy +c=0
> J0aa TR AT J0ed (@ras gAE C(—g —f) Ffa w7
f
> CP @RI ofeT fefy 99, mep =
> CP «7 Bof 777 AB G bFT TR, Mypp = — e
. — X1+
> AB G e, y — y1 = map(x —X1) ¥ = y1 = =751 (X — xy) ATy B
MCQ
4x2 + 4y? — 8x + 24y — 17 = 0 J(BA (FU IO x —y — 6 = 0 wI-b7 To7 fFFe eicwa ~mfy zre w6 v
HS (G (71 I OF ag 97 [KUET’15-16]
(a) 4VZ (b) 2v2 (©) V2 (d) 5v2 (e) 7V2

TG (b); 42 + 4y? — Bx+ 24y~ 17 =0=x+y? —2x+ 6y~ = 0 - @¥ C = (1,-3)
4f, T0gR AR A

G, x —y — 6 = 0 9T TAF 77 @ cﬁmﬁﬁwﬁw.x+y+2=ﬂ.........(i)

X—y—6 =08 (i) 72 @LE ARG B = (2,—4)

W@, x—y — 6 = 0 8 y SCF @A D = (0,-6)

“BD=./(—4+ 67+ (2 -0 =VE+4 =22

@82



V2. x“+y* = 643089 AT (3,4) RS FTHGAES 2, ©FF FAF 1957 41 IBULT18-19]

o
NNEE) %

&F (0,0) : (3,4) i e ot = = o w-Ba v = -2

3
S-GF FANFT = (y - 4) = —=(x— 3) = 4y — 16 = —3x + 9 = 3x + 4y — 25 = 0 (Ans))

Question Type-14: 63T AICATF BRERSRELR]

< Formula & Concept:
> (X, y,) T T Bm s s, x2 + y? + 2gx; + 2fy; + ¢ > 0 [+ve]
> (xl,yl)ﬁﬁi{mﬁm P W x2 + y2 + 2gx, + 2fy; +c < 0 [-ve] A
> (x1,yy) 7 Ira O U T, %2 + y2 + 2gx; + 2fy; +c = O™

MCQ
0. (x—3)*+(y—3)% = 4 930 qr@a 7liTad | A(4,1) 93 B(2,1) f ufo & grea fowm 1 qifzra sefge?
(2) A ¢ B Tor3 foum (b) A @ B a3 qifEra [BUTEX’13-14]
(c) A fSerm @ B IfE= (d) A 9ifzr= @ B fowrm

CA) _ 1 _ .
TAR: (b); gy =7 = 1T +ve - IGCR MRCA|

Question Type-15: 9081 ©ATE (F[F [F900 =HF W32 AfSa0H4 FRH

® Formula & Concept: x* +y* + 2gx + 2fy + ¢ = 0 97 T J0& TF (x1,y,) o T® Jtew =i
(x1,y1) 00 =P AR, xx; + yy; + gx+x) +fy+y1) +c=0 A fHefrm e
G2 ATFAIOCS FATHFA T = 0 &7 | x2 9 TS xx,
> WSy WS =Pfiae 777 Al G (x4, y;) I =0 gt yham Wxﬁl
15lf‘@fl?'?l'-“I‘EI:I??I‘L(3r1+f)}:-—-(J-:1+g)_1,r+g,j,r1—f}f:l=[l X o e 21
y @7 ~Iffrs 2 39S =
MCQ
01. 4x%+4y? — 6x + 9y — 13 = 0 %11 3ffe 0T (2, —3) T Wefrs =pitea Fqeadt @2 [KUET'18-19]
(@Q)x+y=6 (b) 2x +y = 12 ()x+2y=5 (d)2x—=3y=13 (e)3x+4y=7

ATHEE: (d); 4xx; + 4yy, — 3(x + %4) +§(y +vy,) —13=0; (x4,y5) =(2,-3)
02. x*+y? =b(5x — 12y) 0@ WfFe o1 @7 it wfewrs a; Taeqre ~pfeha sfead fFdy aa
() 12x -5y =0 (b)5x—12y=0 (c)12x+5y=0  (d) None of them
A (b); x* +y? ~ Sbx + 12by = 0 ¥ (3, —6b) [CUET’14-15, KUET’04-05]

. A R e @R, y = x-Sy + 12x = 0
T PRI QT = pitaes Sor e - e ST, 5x — 12y = 0

@89



| Written |

03. @I I8 (—1,—1) 9R (3,2) Ry foree wfoarw o @ae @7 @ 2 + y2 — 6x — 4y — 7 = 0 308 (1,-2)
Rers =Pt Bom SRiys | gafba i fidy o= [BUET'19-20]
TAR: X% + y? + 2gx + 2fy + ¢ = 0
2-2g—2f+c=0......() 93 13+ 6g+4f+c=0.... .. (i)

X?+y* = 6X— 4y — 7 = 0 3087 (1, -2) Rrrs =i,
X=2y=3(x+1)-2(y-2)—7=0=2>x+2y+3=0......(ii)
(i) 99 B s grea % (—g, —f) wefyro|
-g—2f+3=0=>g+2f=3...... (iv)

(), (i), (iv) 7GRN FH, g = —4,f =7, c = -3

« JOEA AT, x% + y% — 8x + 7y — 3 = 0 (Ans.) .

04. X2 +Yy? —4x— 6y = 7 &9 =P 9T @ I0ET (—2,1) Frqrs =pitass BoR o1 @R s i s
AAYE: J089 &4 (2,3) [KUET'19-20]
(—2,1) s =ritea Tom wivea silieae,

y—3=""(x—2)=4y—12=2x-4=2x—4y+8=0:x—2y+4=0(Ans.)

(—2,1) femges =pitea s, y — 1 =-—(§;—§;)'1 (x+2)=>y—1=-2x—4.2x+y+3=0(Ans.)
fTe=i:

'C (2,3)
ER
D
1-3 1
e Smeg CD @A = - =;
AB =it ST, y — = —2(x+2)=2x+y+3=0(Ans)

AR rraa Bofg @19 @R T4 (2, 3) fa=int
:x—2y=z-—6=:-x—2y+4=ﬂ(Ans.)
05. x%+y?=453J03q(6, _3) e Sif%Fe ~P(@ x2 + y?—4x + 2y-35 = 0 J8F A 8 B LS 27 0| (719
@, A 8 B fqre =piead 71 717 | [BUET’00-01, RUET’11-12]
1 (i) 307 (6, -3) e wefers =rirea Aawat: 6x-3y = 45
= 2x-y = 15=>y = 2%—15.00ccrseres (ii)
Q. x2 + (2x-15)%-30-35 = 0=>5x2-60x+ 160 = 0=>x%-12x+32=0=>x=84 ~y=1,—-17

« At~y A(4,—7) @ B(8.1)
Aﬁﬁt@@ﬁ@@fﬁaﬂﬁﬁwxﬁy—z(x + 4) + y-7-35 = 0=2x-6y-50 = 0 > x—-3y—25=0
m, =1=AWW{%WW
Bﬁﬁ;@wﬁ@wﬁmﬁw 8x + y-2(x +8) + (y + 1)-35 = 0=6x + 2y-50 = 0
i T

am, =—3 = BW@W:&EWWI Q{¥, my X m, _3}(( 3) =-1
: Auaﬁmwﬁwﬂwml(%uwed)

o " ess



06. X2+ y?-4x + 10y-8 = 0 J0aA (3,1) e =nfas @ SfSeTram et (79 41 [BUTEX02-U3]

=)

FAY: &G x2 + y2 — 4x + 10y — 8 = 0 TS JUST LT T X x2 +y? +2gx+ 2fyc+c=0 99
AR B 9 R, g = —2,f = 5,¢ = —8.

q, W%W(M:h)ﬁ_ﬁc_”fwwq xx1+yy1+g(x+x1)+f(}r+y1)+c-—
=3x+y—-2(x+3)+5@y+1)—8=0=x+6y-9=0..... (i) (Ans.)

(i) AT 9 BoI 7Y @A AN, 6x-y+k=0 . 18-1+k=0=k=-17.

Hoar, WSaAEa ANFI 6x —y —17 =0 (Ans.)

Question Type-16: G 8 I FRACAUCE GFf6 e f[AFre =1 Foa a2 |

965 wsfo e el HFe
Formula & Concept: U89 (7 2O (€ 7Y 9§ = waﬂﬂﬁl

01. M eI AT ATy = 2 @F (3, Z)ﬁwwﬁwmﬂ (1, 4) {451 faza 9191 [BUET13-14, 07-08]

=

TYM:h=3;k=r+2; r=k—2 s [BUET’13-14, 07-08]
*(x—=3)2+(y—-k?=(k-2)°

L o 2
222+ (k—4)2=(k—2) i

.-.4+k2—ak+15=k2—4k+4 s —_— =2
.-.4k=16_',k=4,r=2 . 5
eq™: (x—3)2+(y—4)"=4 = > X

Question Type-17: &[S Bl ﬁl‘ﬂ'@ ol T 908 ﬁ“ﬂﬁ“ﬁ 20O Q'C_ff

- ToF ES HFRES (qH)

Formula & Concept:
x? +y? + 2gx + 2fy + ¢ = 0 089 %3 9 P(xy, y,) T0© Joaa Toim wifFrs =i oady,
PA = PB = /x{ +y{ + 2gx, + 2fy; + ¢ = /S;; [@E, S; = x2 +y# + 2gx, + 2fy, + C]

& X*+y*+2gx+2fy+c=0

B
[Note: ST FRTO Z9, a?ww C‘E’ﬁ[ﬂ'@ﬁ’lﬁ’lﬁﬁt“lﬁ x% @ y? Q9 7 T3 1 IO 2 ]

MCQ

01. uﬁmmzosﬂfﬁﬁmxuy?+2gx+2fy+c=oqm%ﬂa%@aaacmmaﬁw§ﬁ

OABC 99 CFa%« Tl -

(E)-:-\/gz +f2—~¢ (h)chz +f2 — ¢ (c)\/gz FR T B— (a}\!g?ﬂ—c
THIYF: (b); OOABC = A
AOAC @5 (F@F< + AOBC U9 CHFaTe

(x+g)°++0D2=g2+f2— =%\/E_\/gz+f2-—c=l,jc(g2+f3—c)
AC=\JgZ+fZ=c; OA = VOCZ = ACZ -

= AOBC .. OABC = cl(e? fF2 —
=ng+fz_g:_fz+c=\[§ \/ (g° + C)

[RUET’10-11]
(e) None

1

@¢8¢



Juestion }-’pe-ls:?im A gggﬂ:{ 77 (AT q,wmw P T [Pge] [N
2 Formula & Concept:
> e I m BTeRAE et s foreirs 2 1 AR & (xy, ) T =PI 90 [y — y; = m(x — xy)]
> @I P 21 1 o @ (i @ 77 iy = 309 AR R |

MCQ
01. Find the equation (s) of the tangent (s) from the origin to the circle x2 + y2 — 5x — 5y + 10 = 0. [IUT'16-17]
(@)3x—y=0 b)x—=3y=0 (c) None of these (d) Bothaandb
Solution: (d); Tangent from origin: y = mx=>mx—-y =0
]Eiiadius:ﬂ=-:EJ_L-§-'—=:~F-1—':'=25:«:.'&"‘_1}2 = 5m?—10m+5=2m?+2=m = 3,-; y=3xx—3y=0
2 Vm?P+1 4 4 T m?na 3"

02. (3,—1) favg aea srw=ih gl x wress (2,0) fvre = wate gefba et fAdfa w91 & fac sttt
o = rSog TARread Ay w4 ' [BUTEX’00-01]
AAYA: 4fe, 089 T4, x2 + y? + 2gx + 2fy + ¢ = 0 J&H x-FFF = 9, ~ g2 =
(2,0) e =~ IEIE@ERATH2 ~—g=2 GRc=g> =
B,-1)RpmIcsacF@= 9 +1+2g(3) + 2f(-1) + c = 0
10+ 6(—2)—2f+4=0-f=1
-, JEEA FAMFA, x> + y? —4x+ 2y + 4 = 0 (Ans.)

&G (2,-1) GRIJAE = /g2 +f2 —c=1
Wmmqy—mx =0

-=1-2m

m=0'§‘{;ﬁ"’?{“{$,y=0 ql &G | -'.W‘Hﬁ’fﬁ‘i.y+§x=ﬂﬁ4x+3y=0(ﬁns)

‘:1 —m?+1=4m?*+4m+ 1=3m?*+4m=0 :.mzu—:-;m={]

Question Type-19: FIECA 8 JLGA TIOE (I AT Fewrra

< Formula & Concept: m; 8 m; Fﬁﬁﬁ‘l’?‘:ﬁﬁ‘ﬂﬂaﬂﬂ]ﬁ (@I, 0 = tan~1 4 M2

1+m1 ms

MCQ

0. x2+y2—2x+6y—6=030&x—y = 0% AR Tx @ @it By I ©of Z=0-
@)~ (b) 2 ©3 @5 ©F
TG (c); x — y = 0 I JSCF (& I,
%2 4+ 4x—6=0=2x?+4+2x—3=0=2>x=1,-3 . (x,y) = (1,1),(-3,-3)

[KUET'17-18]

. dy dy _ =>d_',r=2—21
--T{mﬁiﬁ,h+2ydx 2+6dx—0 T 2yl

(1,1) e quaa o1t = 0 - @IS o #ifsfé =it = et Beoig w34

¢8Y



uestion

< Formula & Concept: AT Toq 9o 77 4T3 (x,y) 93 FIF 9T YT PP F90© A |

MCQ

O1. AR RRTS (h, k) Ry, it sttt caret sTaraee B o wrefRr <10 “iw TR 761 Si9ig ST GiAf?
@)x*+y*—hx—ky=0 b)x2+y2—h—2k=0 (c) x2+y? =2h+k
(d)x*+y2—5h—k =0 () x> +y2—4h—7k=0 [KUET’10-11)

TN (a); X% +y? — hx — ky = 0; T (b, k) iy

02. x?+y? = a? J0&q 97 uft ~nfra cxafim Hesraerd Fey o2 q@1 = a9 [CUET?04-05]
TN 0T e TRFae- B
y=mxtaVT+m? = (y—mx)? = (+avViF m?)’
= y? -2mxy + m?x? = a%(1 + m?)= m?x?-2mxy + y?-a?(1 +m?) = 0 LB i
= m?(x*-a®)-2mxy + (y2-a?) = 0 O(0, 0)

T, 4ERT m, € m, T,
*OITS, mym, = —1::{:::: =-1=y’—a?=—x%+a?=x2 +y2 =232 (Ans.)

feFet: «fs, Tasmenem Soig R C(x, y)

OABC 5QYLE, £A = B = £C = 90° = £0 = 90°932 OA = OB = a - OABC GG 95
» oA 0C = VOAZ + AC? = av2

WA, 0C = \/(x = 0)2 + (y = 0)2 = \/xZ + yZ = /xZ +y2 = ay/3- x% +y? = 232

Question ’I‘}-T]]E-EI:'E.- HACATH J08S S[qF[q @92 3o 98 4 g PG
< Formula & Concept:
¢ HI0 T i w=gE:

> TG AETE (77 0 A, =pie e Al @
CC.>r+r,
> I8 b I IReFeE = 30
MR T, C,C, @ ry:ry TS SRfiew Fw a

> I8 i TR0 (= T

1'1"'1'1‘:C]C1{ ry4ry

@89



> I 0 RIS TFSI = A
"“’I"fﬁ'ﬁ"{‘, CiC @y, WWH@|

| CiCa=r~1,

form, C,C+1,<1;
> O3 T8 W1 93 Jrea SoreE S1fEs | => C,C; <11
': Clcz‘:l’|+fg
C1C1{I1"'r1
MCQ

0l. x®+y%+2x+c=04a3x? +y? + 2y + c = 0 JGH *TS ™ FAE ¢ 97 T I-

(a) 0 (b) > ©) 1 (d) 2 ([CUET?03-04, BUET’12-13]
AMYE: (b); x> +y2 +2x+¢=0;C,(-1,0);r, =V1—c

x? +y2+2y+c=0;C,(0,—-1) ;r, =v1—-c
CiC,=J(-1-02+(0+1)2=Vi+1=+2

fow =z, I ew, C,C, =+, 2V2=V1-c+V1—c

2=2yT-c=VZ=2VI-c=>2=41-c)=;=1-c=c=1--=-
Note: QT JEICAF GG FAH IR O ATF FICA T@e>14 F1 78 77 [foa It ot 9

02. (9, 8) (FTAMHE @I 8, x* + y* — 2x — 4y — 20 = 0 BT AT =N Fater Jaioa Tt fAfy T2
TAG: %2+ y? — 2x — 4y — 20 = 0 A 7 C; (=, =2) = C,(1,2) [BUET'20-21)
A, ry = J(—1)% + (-2)2 = (=20) = 5 9FF
foref 9r@a (74 C,(9,8) AR TN = r,[4fR] @7 J@wW ARE=P T C,C, =1y + 1
= J(1-92+(2-8)2=5+r,
frp, =10—5=5 933
- foedfa qoaa sl@d, (x—9)? + (y — 8)% = 52
= x2 + y2 — 18x — 16y + 120 = 0 (Ans.)

03. @ 72fS qraa Fead AT o9 N o (7 (3, 4) QI TR x2 + y? -gmwrﬁarm

HATY: x +Y2 = QWW‘E CI(U U) U i W‘f Ty =3 ]BUET'I?—]S]
94 «fF e 9Uea TG = 1, @R @F C,(3,4) (D%--\ca{;,‘;}
CiC=r,+r =J3-02+4-0)2=r,%3 X’

w{l tﬁ

Yf

/s

=b5=rzi3==-r2=513=5r2=3[+ﬁm]ﬂ r, = 2 [— fm]
BRI ﬁtﬁﬂwﬁﬁ‘lﬁcﬂx—a)uw 4)2 =22 = 4
qae (x — 3)% + (y — 4)? = 82 = 64 (Ans.)

¢8b



04,

>

01.

02,

2x% + 2y%-3x—4y + 1 = 0 €32 16x2 + 16y2-32x~1 = 0 Fo & | (A8 (T O[MF ATOILF (P8 N[0 *KI99

T S1fFe | [RUET’03-04, 08-09]
; 3 |9 1. NI7
T 207 @, (5, 1); AWCI ARG, 1y = [S+1-5= ﬂl)
Y/

e e, (1,0) ; edvafa apnd, r, = fl o

4
g, d = [L4+1=3 et efefon g soalba +fifid Bo RS 1 (showed)
[9F0F (FTHA AT QA TR0 FIAFAE Fa FCa8 (I 1]

Question Type-22: Glife SF, AL &l S b CRRIN RIS B! e B CI B I EAU

Formula & Concept:

=epiTRegttalt FAtetser —>
=iz (G o) CC<ntr
S]_Szzﬂ C|C1{r'|""r]
MCQ
x*+y? +2x+3y 4+ 11 = 0 g2 x2 + y? + 4x + 3y + 12 = 0 I8 5264 4= &1 97 T30 054 52
1
(a)x = = b)2x+y=0 )y =x (d) x = =2y [BUTEX’14-15]

TA: (a); S, — S, = —2x—1=0=x=—

If the circles x* + y2 — 16x — 12y + 75 = 0 and 5x2 + Sy? — 32x — 24y + 75 = 0 touch each other, then the
equation of the common tangent of their point of contact is- [TUT'14-15]

(a) 3y + 5x = 29 (b)3y +4x = 25 () 3y +4x = 24 (d) 3y + 5x = 25

Solution: (b); x* + y2 — 16x— 12y +75=0...... (1) : x2+y2--:§-x—zfy+ 15=0.... (ii)

@ - (i) = (-16 + = x+(%-12)y+60={]= —ZTXx—2y+60=0= 4x+ 3y = 25

@8>



ua.

04.

01.

02.

Ty TRy mo =08 xf +y? — 6x+ 14y — 8 = 0 IR YR T IS G Y WO @ TG

4 %e Sl TAl- [KUET’13-14]
187 143
i) — 243 243 287 87
(a) V584 (b) J583 (c) N7 (d) V584 (€) V584

W:(mm@);mmﬂﬁw:xz+3,r2-—4x——8y-—-5—x2'-}’2+ﬁx—14}'+3=0=‘23“‘
22y+3=0

RV A TAI[INE G 1 - x2 + y? — 6x + 14y — 8 = 0 IZG JB|

2x3-22(-7)+3

) Y JEr2r | T Jams oY
x? +y? — 8x — 6y = 0 8 x2 +y% +32x+ 24y = 0 mmﬁ@ﬁemmmw@vmﬁ
I O 7 @IF T4 ZTel- [BUET’12-13]
(@a)6x—y=0 (b)4x+3y =0 (c)3x+4y=0 (d)3x—4y =10 (e)4x—3y=0
FTATHI: (b); 2T AT TG @RI ATHR @, QAT 419 Tt 9 FAeae! HIToe-
X?+y? —8x—6y=10......(0) x2+y2+32x+24y=0......(ii)
(1) —(ii); —40x — 30y =0 = 4x+ 3y = 0 (Ans.)
Question Type-23: qCaS el BRI E R RIS
Formula & Concept:
X =rcosB,y =rsin® @3z x? + y? = r? IS ([ A4 r?2 + 2r (gcos B + fsin@) +c=0
MCQ
cotetta gAITE (5,75) @@ @ 2 Ayend R grea sl emi? [KUET'16-17)
(a)r® + Sﬁ(cns B4sinB)r+21=0 (b) ré — %(cusﬂ +sinB)r—21=0
()12 +5VZ(cos® +sin@)r—21=0  (d)r? +(cosB +sinB)r+ 21 = 0
(e) r2 — 5vV2(cos B + sinB)r+21 =0
2 2
Tt (o); (x — Scos) +(y—5sing) =27 = x? +y2 +25-5VZx — 5v2y = 4
= 12 — 5v/2r(cos 0 +sinB) +21 =10
(oI T4 1 = sin O & Fa G0 [RUET’13-14)
(a) parabola, focus(1,0) (b) parabola, focus (0, 1)
(¢) circle, centre (-;-, 0) (d) circle, centre (U, %) (e) None
AAYH: (d); r = sinf = rZ =rsin0 [CSYNFE r 74 & F=)

1

sxttyt=y=x2+(y=2) =) . yea e, v w (0.3)
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